& & T T ISR 2ETHRE AR— ‘Jt/’;" e E5ETS
BE %S?Ju e _ 16 _ 268 _ 3L _ afr _ SHL _ 6L _ A _ 8L
100m 6 | (B 111 (3 JSIE/S 11.4 | Rk 1% 115 | AW | 116 |4k 5G| 117 [AE FHE] 118 |/ Q)| 118 | EM Ot 12.0 | AmEEE
—0.5 8.} AC B AC B R HEE® & I\ BB & Ak 8. AC
200m ag | (BN 234 %k Fns 23.9 | M % 23.9 [Hd ER@)) 24.2 | TR HmuEQ)| 24.6 | WERE O FEQ) | 247 | A& WEXOQ| 247 | KH EA 252 | R BAT@)
+0.6 8.} AC B AC FEH HEE® B I 3 # 8.} AC FEE
400m | 14 s5.1 |l wm@| s65 |k E@| 572 [RE EEQ] 591 |FE AAM]| 1.00.9 [ =4 HEOEQ)
B[] e R ENENE FEE R L
800m 18 2.09.0 | fJrzE &HE 2.10.2 | ¥kE HRM| 2.10.7 [ HRIE RHA 2.11.0 | hHE EBHE)] 2.11.5 [FEA FiD)] 2.12.8 | &HE SKRQ| 2.13.7 | fhE @MEQ)] 2.15.3 [fiE R0
8.} AC TR EE 1B B AC Ny & A & R L I\ BB &
1500m | 28 4.22.1 |ATH #RL@| 4.24.5 |9hHE HHEOQ]| 4.26.0 [FE #HRO] 4.27.3 | FH &M@ 4309 |[FilE ARO[ 4.32.5 [JEE —fQ)] 4.32.7 | HH SKO@| 4445 |k Ki©)
KB I\ BB & A& AR N I\ BB & A& ALk
5000m - 15.51.3 | I KRg | 16.05.9 |HE #HAR(1)| 16.36.1 |@iH #il@)| 16.42.5 [ AR ZEHR(1)| 17.03.5 | #HE B@)| 17.36.8 | Bl Ath(D)| 17.54.2 |EEMERES(D] 18.08.4 | &  HHIR(1)
R TR H A& TRE AR N TR EE B FE &
th253000m| 14 9.48.6 [/KH/INKRR()| 9.59.1 | 1Llis #/r(3)] 10.18.5 | A% (2 | 10.25.6 |#m &k ©@)| 10.26.0 | &R HOK@)] 10.29.9 | 5 KA Q)| 10.32.6 [MEA HE—G)| 10.34.7 | M &57EEG)
B[] e H A B[] e EREELE R L RO L B[] e -
T omH 6 | EID| 176 B ZEQ)| 199 |[BEE RO 217 A BEO] 219 [ER BHEO] 222 | E=EH B
-0.7 2 B I\ BB & FEH B IR
400mH 9 1.00.1 | mUH it 1.03.1 [gE mee)| 1045 |aim wEO] o046 [BE S| o0 | s Q| 1144 | wE BEO] L4s | km om0 | 1.23.6 [FHAB =G
1B B AC I\ & = Ab ] H & & TR E FEE B B
HE i FH PO s A0 oA ekt #=ZPED R 181 TR BAEQ) Hks (1)
ax100m | 14 45.3 | %k W% 46.0 | KA CEHME@] 46.5 | /EF E#IQ| 47.0 |R1TE EWO] 48.5 | EA EXO] 49.0 | AE MdmO)] 493 | @ KB 498 |EA —&HQ)
005 AC| %Ak Bz |&ME Al fE wa@| \ & | B R0 | Sk | gE A0 &FFER Bl FE X)) | &M B| BR SEO| 4 B & | I @) bakEs | KA L)
R 1% BfE () A fEh(1) PERE FE(2) BEE BB A R fERk SR> WA Q)
A i A FRoR(2) EmE AL TR HE2) HART (D) BRI R ol )
4x400m | 10 3.40.7 | &R A7 3.47.5 | A AKM| 3.50.7 |AA Fok(D)] 3.55.9 [ FF @) 4.00.1 | =E O OBAQ) | 4.02.2 | g GO | 4.045 | EHEA K
B 5 AC| M & | FE & P BRO|EME B A EO] kK & | ME KA@|EXKES | BB &R0 | B ERF (AR, 1A & | kS #EEQ)
FiE && ELE A ) fEIE AR P (D) (AR IRARQ) M Q) IEK B2)
sum | 12 Im80 | k¥ @) | 1m75 WA BHE@] 1m65 | =07 #ERD]| 1m65 | /AR EH#EQ)| Im65 | IR AQ) |mes (A0 | M BR(D) | 1m65 | FRAK #wAWM]| 1mbs5 | A AL
Ny H A& 4B = AliElss TR E HEE® & s I\ BB &
ek 2
siEsk | 21 6m49 |t BRE@)]| 6m42 | EM PEQ)| 6m03 | EE O KEHD| 5mol | ol #iE@)] sm70 |AA —#&m(1)] 5m65 |®AA )] sme4 | M A | 5mbe | EIE FEEQ)
(B)) +0 FE & -0.3 o & -0.3 £ -0.7 o & +0.6 TR E -0.3 v AL -0.6 AN +0.1 o &
=g | 11 13m31 [ BRE@| 13m27 | BEE Q)| 12m23 | BEE BR(D | 11m8s8 |7 AREH(D| 9me2 | HER(D)
B (&S| +1.0 EFAE S +0.5 B = -0.4 HEEE -0.9 B & -0.4 Nt
wagg | 15 | W | 12ma3 [ KE | izmeo [#es AA@[ 1im3e [ mE | 1om73 [ EHO| lomse |4 E O] oms7 [ EO| sm2s [Bm wRm@| smer | skm O
6.00kg 8.} AC B & 8.} AC TR EE & I\ BB & A = B FEE
Mg 16 | (ER O45m34 | fnl #E 43m10 PRAEAES@| 33ml19 | ¥4 A8 | 31ml7 |[AW k(D] 31m08 [#EHE FAQR)| 30m58 |Bak ZmA)] 27m57 | Fnm CHE 25m08 | AH #7z(2)
1.75kg 8.} AC BRATER FEH RO L& & I\ BB & 8.} AC TR EE
Now—iz| 6 (F) | O57m26 | HAT ARMER)| 46m38 | &M JAs 41m01 | #52  #AQ) | 36m96 | Bk #mAk(1)|36m9s (4fn)| FRME  wE(1) | 17m66 | A b R
6.00kg Ny B AC FEH I\ BB & N B
oy | g0 | (EID| 55m88 | Ml Q)| 52m56 | = RFHE)| 48mOT | AA | 46m05 | KK 44m33 | STl B 41m5s | A WEP(D) 41m22 | BRE BRE)[ 38m80 | A K1)
800g A& N {055 AC X & i L TREE N i Al




N N b A 15 ST EATHE RR—Y £ 4 L3RS
B4 F380 HEELHBREFEXRS B A0 —NK:14280502) [ & F* ] O Kai 26411 HBE (4)
. E ) 14z 241 2 iva 44 54 641 74z 84
AH mix KE&-E | B 0 KE&FWE | K% 2KE&FE | K% 2 KE&-FRE o8k K& -FilE BmiE  KE&-FRE o8k K& -FilE B KE&-FRE
oom | g9 || 133 KEmEmK | 134 | A8 BRG] 135 [JK E8Q| 137 [FE BHEQ)| 138  [fF M@ 139 |HEKETO| 140 |AFHAE | 142 | BB ELQO
-1.4 B J5 AC LRIV o Fr (L H & & HEAE & B 55 AC o
200m 5 | B 272 | B4R BER@| 279 | KHEERMK 28.6  [#EH AEZEQ@)| 29.0 [ k& EREQ] 29.0 |BEFABIRFEW| 295 | &H EMKMD] 301 [+ Er@] 30.7 | FHE OHE)
+0.8 [EEIPN fB 5 AC B & & = FE® A & = F
400m » 1.01.8 | AR B&E@W] 1.07.0 |FENBHBAEFQ| 1.08.2 |G Hi@)| 1.10.4 |#:8 #EXG)| 1.13.4 [JIE 2£E£Q@)| 1.149 |/ FRO] 1.16.0 |Gk #H&Q)
(LBEIPN FAE & = ARl FE® = I\ JE
500m 3 2.36.3 | ¥B HERG)| 2.39.7 |BEA D] 2.42.0 |Bot @mEWD| 2.44.2 | EEF EZRWO] 2.46.0 R EHEQ)| 2473 |EEPIBEEG)| 2490 [=AEAT@| 2519 | BF #KEQ)
ARl = B Bt I K FoHR L A A4 B R
3000m » 11.18.5 | Bk #HZE(1)]| 11.48.3 | KA /NER(D] 12.12.6 |'E=4E BAQ)] 12.14.6 |G &3] 12.29.8 | kS HE)| 12.30.5 | /M2 ] 12.39.7 | =& FEAQ)| 13.19.0 |[/NLFRE (1)
B & & B B fi g A fi] g B fi g B el e A&
oomt | 4 | BN Ol5.1 |AAK f#©2)] 18.6 |l 72| 204 |[BHARTO| 232 |fA RO
-1.1 ) o O ANy
& B Fnr s B JIH =3%E2) G BEEQ) —I% Enf2) HAEREQR) I H T =0V
ax100m | 13 53.5 | RHET{K 54.3 | A EH@)] 55.1 K7E =) | 56.0 | @3 FE@)| 57.5 | EME(D| 57.6 | BEAR @] 58.1 A& %AO| 1.03.8 |ZH BEQD
B/ AC| A FHAE | Bhm A| L S5 & & & [FENI A FO A LE| =L #66) |B e P &R X N\ E & [ A ERQ| S5 B [ RAREFD| RS | KA ERD
W Ama i T2 FHAE (L) BH EHEG) 2k R HAR(1) AR SeAE() R 5EQ)
I 1m45 DAl 7()| 1m45 & FAQ| 1m4s |[[@EF &HAQ)| 1m25 | KW )| 1m256 |55 AWAD| 1m25 | IR SEREQD)] 1m25 (LA #(EQ@)| 1m25 | il T#(2)
= = = R ERSp G = [t i A &
U 5m00 | JFE #EQ2)| 4m70 | MG MK 4m61 | R&H MEEQ)| 4mbl  FEOERZEE)| 4m45 | A EREOQ)] 4md2 | S &HEFQ)| 4m30 | R EEWD| 4m24 |[EHA EAQ
(B | -0.8 B -1.3 fB 5 AC -0.3 A4 B R -0.9 I\ HE +0.4 I\ JE +0 TR E -1.0 A& & -0.8 =
S Y (Egn | Tm69 | BAZ EER(D| 6m86 | M E(D | 6m57 | REFRAEEQ)] 6m39 | EAS EEQ)] 6m09 | @A KRZE@)| 5m69 | LM EEED| 5m60 | A BET-(D| 5mb4 | iEAK AEAER)
4.00kg HF 4 B HF A s A % PN T @& R
maig | 1 | CER 30m26 | BAZ EIR(D| 28m80 | [A #H(Q2)| 26m07 | AF HEARQ2)| 21m93 | A E&ED)| 20mo4 AR 18m62 | K& RARD)| 18m2l | —BF FfEQ@)| 18ml7 | RA E&RQ)
1.00kg HF A& AT [ T SR Ess G A s
oy | 13 | CED 28m55 | B FIIEHM)| 27ms2 A BAT(D| 27m53 | KAk HENQR)| 2Tm38 | WA HQ) | 25m26 | AR Q)| 22m48 | K7 2| 2Im23 JROMERSEQ| 20m23 | REE AH(2)
600¢ A L Bl H & & I\ BE L I\ BE W &
FoAe SR e R R s Kig Xtk ('C) JEL [ JEH (m/s) [ (%) Kig S (C) JELIF] R (m/s) [ 1R (%)
B A1 Y 11.0 0 I 66 13:00 Y 17.5 [EE[E 0.1 53
w OB B 10:00 Y 12.0 0.1 A P V5 64 14:00 EY) 17.0 [EEAT) 0.1 53
FoH R K AEER 11:00 ) 12.0 0.9 4k 63 15:00 ) 16.0 pii3 0 60
FEREAE: B O3 B 12:00 20 14.5 0.3 ElAL] 59 T ) 15.0 4 0 60
13:00 20 16.5 E 0.4 56




